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Roll dice to generate a two-digit, three-digit or four-digit number. Discuss whether the number is divisible by 4 or 6.
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Calculate the missing angles shown as question marks on this diagram of an equilateral triangle. Explain how you did it.

Equilateral triangle all angles 60 degrees, so question mark in triangle 60 degrees, angles on a straight line total 180 so other angle represented by ? is 120 degrees.
Decide whether the chance of landing on green is greater than, less than or equal to 1/2 for each spinner. Explain your answers.
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Answers a) Equal to one half as half circle shaded b) less than one half as less than half circle shaded.  C) Greater than one half as more than half circle shaded.
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Mental Exercise




Mental Exercise





Give me an example of a number that is greater than 100 but less than 200 that is divisible by 5 and also by 3 


Answers 120, 150, 180 











Challenge


 Give a number when multiplied by 10 gives an answer greater than 3.5  


Give an answer when divided by 100 gives an answer less than 3.5











Remove picture cards and the 10s. Play snap treating each card as tenths. When you have a pair which total 1, shout snap and explain why e.g. 0.2 + 0.8 = 1








Spinners – she is correct, as there is a 1 in 6 chance of her landing on 6 whereas Peter has a 1 in 8 chance. 








 





Challenge





Write a formula involving a and b so that when you substitute a = -2 and b = 3 into the formula  you get 18     6a + 10b














Mental Exercise





Give a number less than 100 with;





exactly two factors


more than 5 factors


more than 8 factors





1) 7, 13.  2) 18, 20.  3)  24,36  there may be others   


  





5/6 as this is the bigger fraction of the chocolate. 





⅔ of £250 = £166.67





75% of £225 = £168.75








 





Challenge


 Draw a triangle with 


1. Exactly one acute angle.  2. Two acute angles  3. Exactly one obtuse angle











Mental Exercise





Always/Never/Sometimes True





The sum of four even numbers is a multiple of four Sometimes


A prime number can be a multiple of 4  Never





  





A prime number is a number that only has two factors 1 and itself. 





For example: 7 is only divisible by 1 and 7 to leave a whole number. 





Answer: 7, 11, and 13 





Challenge


How would you change


metres into feet  2.  Km into miles  3.  g into kilograms ?











  





Mental Exercise





Always/Never True





If 14 x 7 = 98 then 98 ÷ 7 = 14 Always


 If 14 x 7 = 98 then 98 ÷ 14 = 7 Always


If 14 x 7 = 98 then 7 ÷ 98 = 14 Never


If 14 x 7 = 98 then 140 x 70 = 980 Never











 

















Did you need to look up the meanings of any words from today’s tasks?  Try to use some of those words later today!





What is Wrong Challenge





4(b+2) = 4b + 2      4b + 8


3(p-4) = 3p – 7    3p - 12

















Mental Exercise


 Always/Sometimes/Never True


A square is a rectangle True


A rectangle is a square Never


A rectangle is a trapezium Never


A rectangle is a parallelogram Always 


A square is a rhombus Never




















In a sponsored swim, Paul swam 75 lengths of the pool, his sister swam twice as far. How many lengths did she swim?


150 lengths





If two children have £27 to share equally between them, how much do they have each?  £13.50





Jenny walks 1250 metres to school each day, she meets Kate half way; how far does Kate walk?  625 metres





 





  Ashley measured the angles in a triangle. He said: ‘The angles are 30°, 60° and 100°.’ Could he be correct? Why?





No, the angles of a triangle add up to 180 degrees








Nasreen made some fruit punch. She poured 1.5 litres of orange juice, 1350 ml of pineapple juice and 780 ml of mango juice into a large bowl. How much fruit punch did she make?





Answer 3630 ml or 3.63 litres





Write the three prime numbers which multiply to make 1001.





× × = 1001





A calculator might help!








 Which die does the net represent? 


�





How quickly can you answer


 


􀂃Nine sevens 63


􀂃How many eights in 48 6


􀂃6 times 7  42


􀂃5 multiplied by 9 45


􀂃Multiply 9 by 6 54


􀂃7 multiplied by 0 0





Mental Exercise





If we know 6 x 9 = 54,


what decimal facts are linked to this multiplication fact?





Which would you rather carry a Kilogram of feathers or a kilogram of metal? 


Metal because its small


A farmer has 6 cows, 9 horses, 15 chickens, 7 goats.





How old is the farmer? 


No information for his age.





Which table is this and what does each letter stand for? 





CK x B = BK     1 = C


G x B = EC        2 = E


F x B = AE        3 = G


C x B = B           4 = A


D x B = HF        5 = H


E x B =CA         6 = F


H x B = GH       7 = B


J x B = FG         8 = D


B x B = AB       9 = J


A x B = ED       0 = K





I think of a number and multiply it by 5. I then double it and add 20. 





I then find the square root which is 10. 





What number did I start with? 
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Tina's birthday is on 9 September. 


On what day of the week will her birthday be?        
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Mental Exercise and Challenge 





20s   - 2, 5, 8, 17
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Using the numbers 2, 5, 8 and 17 and any of the four operations can you clear all the numbers in the grid above? 





You may only use each of the numbers once in each calculation, you do not have to use all the numbers each time. 





e.g. (2 x 5) + 8 = 18 





There are many different answers for these questions. It is worth using a calculator for your child to check as this will also practice their calculator skills. 





Work backwards for this one. 


The square root of a number is a number than when multiplied by itself gives you a square number. E.g. 25 is a square number and 5 is the square root as 5x5 = 25. 





Square number with a root of 10 is 100. 


100 – 20 = 80 then halve it 40 and divide by 5 = 8 





 





His party will be the 27th August. 





Tina’s birthday will be on a Friday. 


 





Answers    1. convert to cm and divide by 2.5 to give inches.  2.  Multiply km by 5, then divide by 8.  3) divide by 1000  





Here are two spinners. Jill says: ‘I am more likely than Peter to spin a 3.’ Is Jill correct? Explain your reasoning. Peter says: ‘We are both equally likely to spin an even number.’ Is Peter correct? Explain your reasoning.





�





Challenge





Would you rather have 3/4 or 5/6 � QUOTE � ��of the same bar of chocolate? Explain your choice. 





Would you rather have ⅔ of £250 or 75% of £225?


 











Plot the following points


Name the shape


Plot the missing point of the shape.


State the missing coordinate.





(1,1) , (1,4) , (4,4)


(-1,-2) , (2, -2) , (2,-5)


(-6,1) , (-2,1) , (-5, 4)


(-5,-5) , (-5,-2) , (-4,-6)











Temperature in the equator 52°C. 





18°C + 11°C = 29°C - 3°C = 26°C





Mental Exercise


�                                                             


Wallace throws three silver coins onto the table as a tip. What is the biggest tip that he could have left? What are the other combinations of coins that he could have thrown onto the table? 





3 silver coins – only dealing with 5p, 10p, 20p, 50p





Most £1.50 


Least amount 15p and a range in between. 











�  








	Challenge 	





At the North Pole, the temperature is –25 °C. At the equator the temperature is 77 degrees higher. What is the temperature at the equator?








At the beginning of the day the temperature in the classroom is 18°c over the course of the day the temperature changes increasing by 11°c when the children arrive and decreasing by only 3°c when the children leave at the end of the day. What is the temperature at the end of the day? 














 What could each of the shapes on this puzzle piece be? Can you justify your answers? 





�





Challenge – based on basic calculation: 


Butter for 2 people – 100g 


6 people – 300g 


5 people – 250g  as 1 person requires 50g butter. 





Fruit – oranges = 8. In the initial fruit salad she requires 6 pieces of fruit therefore to get to 24 pieces you will need to multiply each piece of fruit by 4. 





Mental Exercise





What is 5802 rounded to the nearest ten/hundred/thousand?





I buy 9 books that cost £3.99 each. How much will I pay to the nearest pound?





How do you know?





5802 rounded to the nearest ten = 5800 


Nearest  hundred = 5800 


Nearest thousand = 6000





9 books = £35.91  nearest £36.00 





Hearts 





Remove all the picture cards from the pack leaving you with Ace to 10. 


Lay the hearts cards between you and the person you are playing. 





Turn over 3 cards from the remaining pack and using those three cards try and make the total of a heart. If you make the total then you keep the heart. The winner is the player with the greatest total of hearts. 





e.g. I turn over a 1, 6 and 4 . I can complete the calculation 6+4 – 1 = 9. Therefore I keep the 9 of hearts. You must use all the cards. 








Challenge 





A recipe for 4 people requires 200 g of butter. How much butter would you need for 2 people? 6 people? 5 people? Explain how you found the quantities of butter that were needed. 


Sapna makes a fruit salad, using bananas, oranges and apples. For every one banana, she uses 2 oranges and 3 apples. Sapna uses 24 items of fruit. How many oranges does she use?








Data Dudes


Find five numbers that have:


 a mean of 10,


 a median of 10,


 and a range of 10.











Mode = number that appears the most


Median = median is the middle number, when the numbers are put in order of size – lowest to highest. When there are 2 numbers in the middle add them together and divide by 2.


Mean = The mean is the total of the numbers divided by how many numbers there are


Range = The range is the difference between the largest and smallest numbers 





In this case the children need to find starting numbers with a difference of 10. 


The middle number is 10 therefore there must be 2 numbers lower than 10 and two higher than 10. The mean is 10 which means that the total of all the numbers added together is 50 as you divide this by the total number of numbers to find the mean. 





Shape Challenge





Draw the shape with the coordinates (−5, 1) (−4, −1) (−5, −4) (−6, −1).


Describe the properties of this shape. �Can you create the same shape in a position where all of the coordinates will be positive?








If there are 3 airports there would be 3 flights. 


If there are 4 airports there would be 6 flights. 


 





Can the children create a link to lead to a formula?





��





The initial shape – children should identify properties are: 





Acute and reflex angles


The lengths of the sides


Parallel lines





The new shape should be anywhere in the first quadrant. 








Holidays





There are three airports on an island. Every day one aeroplane flies from each airport to each of the other airports. Use a diagram to make sense of the problem. How many flights are there each day?





What if there were four airports, five airports...?











�  








Hearts 





Remove all the picture cards from the pack leaving you with Ace to 10. 


Lay the hearts cards between you and the person you are playing. 





Turn over 3 cards from the remaining pack and using those three cards try and make the total of a heart. If you make the total then you keep the heart. The winner is the player with the greatest total of hearts. 





e.g. I turn over a 1, 6 and 4 . I can complete the calculation 6+4 – 1 = 9. Therefore I keep the 9 of hearts. You must use all the cards. 








Challenge – based on basic calculation: 


Butter for 2 people – 100g 


6 people – 300g 


5 people – 250g  as 1 person requires 50g butter. 





Fruit – oranges = 8. In the initial fruit salad she requires 6 pieces of fruit therefore to get to 24 pieces you will need to multiply each piece of fruit by 4. 
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